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QUESTION 1

An administrator is deploying Nutanix Files 3.5 and needs to configure the sizing of the FSVMs for an increased number
of concurrent SMB connections over the default 750. What should the administrator do? 

A. Deploy the Files VMs. power down the three FSVMs. change the CPU and RAM via Prism, and then power the three
FSVMs back up 

B. During installation, click Customize on the File Server Installation screen, change the number of connections, and
finish the installation 

C. Complete the default installation change the CPU and RAM m Prism, and then log into the File Server dashboard
and change the Filer Server Properties 

D. During installation, input the correct number of connections in the File Server Installation screen and complete the
installation 

Correct Answer: B 

Ref: https://portal.nutanix.com/page/documents/details?targetId=Files-v3_6:fil-file-server-manage-c.html 

 

QUESTION 2

A three-node cluster has a Nutanix Files instance with three FSVMs. 

What happens after a node failure? 

A. The affected FSVM will get live-migrated to another node. 

B. The affected FSVM will not be restarted on another node due to its agent VM setting. 

C. The affected FSVM will not be restarted on another node due to its VM-to-VM anti-affinity settings. 

D. The affected FSVM will be restarted on another node. 

Correct Answer: D 

Ref: https://portal.nutanix.com/page/documents/details?targetId=Files-v3_6:fil-files-high-availability-c.html 

 

QUESTION 3

An administrator has a custom backup application that requires a 2TB disk and runs in Windows. Throughput is
considerably lower than expected. The application was installed on a VM with the following configuration: 

1. 

Four vCPUs with one core/vCPU 

2. 

4GB of Memory 
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3. 

One 50GB vDisk for the Windows installation 

4. 

One 2TB vDisk for the application 

What is the recommended configuration change to improve throughput? 

A. Increase the number of cores per vCPU 

B. Increase the vCPUs assigned to the VM 

C. Span the 2TB disk across four vDisks 

D. Add 4GB of memory to the VM 

Correct Answer: B 

 

 

QUESTION 4

An administrator is updating disk firmware using LCM and receives the following message: 

"there have been 10 or more cluster services restarts within 15 minutes in the Controller VM" 

The message appears as each drive is upgraded. 

What is the reason this message is being generated? 

A. A node has been rebalanced 

B. A drive has been reformatted 

C. A node has been rebooted 

D. A drive has been ejected 

Correct Answer: C 

Ref: https://portal.nutanix.com/page/documents/kbs/details?targetId=kA032000000TT8DCAW 

 

QUESTION 5

An administrator protected a DB VM running on a Nutanix cluster with NearSync Replication, which schedules to repeat
every 15 minutes to a second site. The daily change rate is low. During nightly backups, the replication window is
missed due to write volume. 

Which two options describe the expected behavior? (Choose two.) 

A. NearSync stops working and fails over to the remote site. 
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B. Protection Domain transitions back to the hourly schedule. 

C. The Administrator needs to re-enable it manually. 

D. The system continuously tries to get to the NearSync schedule. 

Correct Answer: AD 
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